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200 0 x 30.30ns 0 o0 Qo0 0
230.30 1 x 30.30ns 1 01 001 1
260.60 2 »x 30.30ns 0 10 010 2
290.90 3 x 30.30ns 1 00 011 3
321.20 4 x 30.30ns 0 01 100 4
351.50 5 x 30.30ns 1 10 000 5
381.80 G » 30.30ns 0 0o 001 G
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593.90 13 »x 30.30ns 1 01 011 13
624.20 14 »x 30.30ns 0 10 100 14
654.50 15 x 30.30ns 1 00 000 15
684.80 16 x 30.30ns 0 01 001 16
71510 17 = 30.30ns 1 10 010 17
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987.80 26 » 30.30ns 0 10 001 26
1018.10 27 »x 30.30ns 1 oo o010 27
1048.40 28 » 30.30ns 0 o1 o11 28
1078.70 29 » 30.30ns 1 10 100 29




